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1.Mrs. Gallas will give you a random sample of 5 scores. Record the  scores and then find
he mean.

Scores:
Mean.

“This s your point estimate for the rue mean.

2. Ideniity the popuiation, parameler, sample,

~
e L el 100 S 2 A= 1 N
oD PVIALCDIN DS stmto Y >
k/ 0 "3 Now you are going fo change your point estimate info an nterva o values by adding and

bt e s Tsmmer Sy ot e 1o ot Y0 08 14 bR
e e e

I 1y %
ay%@?c 200 ToF20 L=, &) (8 )
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Lesson 8.1 Day 1- The Idea of a Confidence Interval #
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We are 95% confident that the interval from 0.17500.225 captures the
true proportion of US aduits answered correctly.

fer 025 MOE=+0 25

(05,0225

Ml obriuse s, indhs il K

Golow 267 AN plavsiok s in

CT g less #on 257 Tharefort the

el Tpes ot COmindng ¢videne

ot lessthon 287 01 U2 4tilas
Anslct (OWEcHy




image3.png
Losson 8.1: Day 2: What does “95% confident” mean?
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3. “Reser and then ake  fotal f 100 confidnce iervals (samole 25 four mes). How
many out of 100 capured he e mean? s this suprising? Why?

anywhere from 90 - 99% Tre moresorples e ke e more kel

4 Watch yourconfdence infevals a5 you dag e confience levelfom 95% fo 9%
(6ot Reset) Wnat appens o he nervals when the confidence ave s ncreased?
Why coos ihs make senee?

Tne ntevals gat coses tothe mean s the confdence kvel e e
26 you Incrasse the confiden levl the nteval s wider 50 wa can it the u more.

5. “Reser, hen sample 100 s at an 80% confdence inferval. How many of he
sl capturs e nue mean?
o Anyunere rom 70 to 50% but e sl stays sround 80%

nterpret e confidenca love:
1w take mary, mary 80% confidence ntervels, we Sxpact about 80% o capture the s mean

6. Now we il sce what happens whe we adus he sample size. Change e sampe
iz fom S 1 50'and samplefor 1 nrval Then change 0 250 and sample 1o 1
intoval. What happens t he nenvalwhen the sample size s ncreased? Why?

The interval narrows. As samples e goss up, we expect ks varisbilty smslls SD)

~incress e the’ ampl size, decrease inenval width
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Interpreting Confidence levels W"“‘i‘“‘""e’“‘a@" Margin of error
If we make many, many ___ % 9femor the conide NEVER accounts
|confidence intervals, we expect :"“’T“:“*()Eed:’ nee. for bias.
lthe intervals about _____ % ofthe 1evel- . creases
fime to capture therus ____ mcrease the sample size
parameter o€ decreases
Check Your Understanding

s partof a project about response bias, Ellery surveyed a random sampie of 25 students
fom her school One ofthe questions in e survey required suden o iate ther GPA.
aloud. Based onthe responses, Elery sad she was 90% confden! thal the nerval from 3.1¢
10352 captures the mean GPA for al studens a herschool.

(@) ntrpret he confience leve.

If we make many 90% Confidence intervals, about 90% will capture the true mean GPA.

(5) Explain what would happen 0 the length of e nterval f th confidence level were:
ncreased 1o 0%,

The length would widen because the margin of error would get bigger

(¢) How would a 90% confidence interval based on a sample o size 200 compare o the
original 90% nterval?

The width would get smaller/narrower. An increase in sample size means a decrease in variabilty
and the Margin of Eror

(@) Describe one potentialsource of bias in Ellery' study tha s not accounted for by the
margin of errr.

Students might not tell the truth about their actual GPA.




